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X1 BREBCREDSARE—IBRERZBICETRHELTVET,

X2 OOE(AAE)J:!& TOOEMDAABEICE N2 I EVWSEKTT,

X3 AT ATE, BHALOBBILDEBEEENTAYEBANDTTIBEET,
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BE. mKXEFR20kMEFEEEOFHMAEFF AL LTOYADSIEWN-ETET,

NEXCOEB A (B FRANMNGZEKERRIOKME LD #HE®E) https://www.driveplaza.com/special/congest _prediction/
RS&S https://www.drivetraffic.jp/congestion

NEXCOHFHA %EFBHR(ZRAEERT1OKME LDk iEEIBE) https://www.c—nexco.co.jp/odekake/
NEXCO® B AHP (%% F 8l _*—) https://dc.c-nexco.co.jp/jam/cal/

NEXCOB B A %% FAIHAR https://search.w-nexco.co.jp/forecast/trafficjam_new_year_2025/index.html
NEXCO® B AHP (%% F 8l _*—) https://search.w-nexco.co.jp/forecast/

JBEAOE®E  ERBFAR—J(EXEFEDLKkM LL LD EEEE) https://www.jb-honshi.co.jp/customer_index/jyutaihtml
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